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Read the following passage and answer the questions which follow.
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QUESTIONS

Underlined 1: Choose the answer which has the closest meaning to the

underlined part. Write the LETTER of your answer.

(A)

E)

to encourage their child to define his/her own values within
a set of specific values.

to encourage their child to define what his/her life is for.

to encourage their child to define what normal social values
are and to help society.

to encourage their child to define what it means to be an
individual and to respect people with social status.

to encourage their child to define his/her self-respect.

Underlined 2: Find an appropriate English word or appropriate English words

from the passage to explain the meaning of the underlined part.

“Mediate’ or indirect expression” means

Underlined 3: Explain in Japanese the meaning of the underlined part

specifically by clarifying the phrase “take second place.”

Underlined 4: Explain in Japanese the meaning of the underlined part

specifically by clarifying the word “this”,

Underlined 5: Explain in Japanese the meaning of the underlined part,

specifically by making clear the reason(s} why the author can

say that “there is not a serious conflict of expectations between

the school and the middle-class child.”

6. Explain in Japanese the author’s three main ideas in the text regarding

middle-class children.
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Read the following passage and answer the questions which follow.
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QUESTIONS

Underlined 1: Why is the “splash of colour” said to be “improbable™ Write

your answer in English.

Underlined 2: Who made this “closer inspection” Write your answer in

English.

3. Why does the author of this passage seem to think it is remarkable that
Mrs Naidu became one of Gandhi’s closest disciples? Write your answer in

English.

4. The passage speaks of many aspects of Gandhi's diet. What type of food

was most noticeably absent from his diet? Write your answer in English.

3

Underlined 5: What does the underlined part mean? Answer the question by

filling in the blank with one appropriate English word.

“To recruit for the ranks” means to seek out and enroll more

Underlined 6: Some of Gandhi’s actions are said to have gone “down well with
the British government.” Complete the following paraphrase of
this sentence so as to make its meaning clearer by placing one

English word in the blank.

Some of Gandhi's actions the British government.
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Underlined 7: Fill in the blank with an appropriate English word or appropriate
English words to complete the statement in accordance with the

text.

“Hot-headed supporters” means that these supporters were often

Underlined 8: Rewrite the underlined part with “The failure and crimes of his
own followers” as the subject by filling in the blank with an

appropriate English word or appropriate English words.

The failure and crimes of his own followers

his repeated crises of conscience.

Underlined 9: In the underlined part, “Nehru’s India” and “India today” are

referred to. Of the two, which came earlier in time?

Underlined 10: Why was Gandhi “inspiring blooms in wintry Bloomsbury”?

Write your answer in your own English words.

Because
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Read the following passage and answer the questions which follow.
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Druckerman. In The New York Times International Edition.

Tuesday, April 30, 2019.)

QUESTIONS

According to the content of the passage, write T for True, F for False or
N for Not mentioned in the text for each statement. Answer a question with
“N” only if the statement is either not present in the text or cannot be inferred

from the information in the text.

1. The author of this essay is in her mid to late 40s.

2. Because they have acquired fewer words of vocabulary and hence have
less to forget, children seem to acquire vocabulary more quickly than

adults.

3. Native speakers in preschool actually make slightly fewer grammatical
mistakes than non-native speakers who had been immersed in English in

their late 20s, according to Dr. Hartshorne.

4, The author’s husband is a native English speaker.
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. The lack of familiarity with so-called “low-frequency” words or phrases
may prevent non-native speakers from reaching the level of native

speakers.

. After one has reached an optimal level of proficiency in a foreign

language, it may deteriorate afterwards.

. Correct usage in French is often difficult to determine because there exists

no official standard in the language.

. Most French people take great pride in their ability to speak French

because it is regarded as a national treasure.
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Read the following and write an essay in English in about 200 words.

Since the start of the Covid-19 pandemic, an increasing number of public
libraries in Japan are offering to the public more digital content, such as
audiobooks, digital magazines, and e-books, instead of printed items.

Do you think that Japanese public libraries should expand their online
services? Why or why not? Write your essay by giving two examples of the
possible advantages or disadvantages of Japanese public libraries expanding

their online services.
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